TUMXIE 2% (EERYEE))
=2 1,425.1 XE 1,842.6 =X E X -4175
(+H) -345.3
2 A ZHEHH 910.6
TAULF
Tz S ey ol Sz 7| Et A
1,181.8 - - 2163 27.0 1,425.1
XE2% DA 1,194.6 AR 648.0 A
1,842.6
HEug
20O xE| 5 H g 5250 @zt ez | 1,530.0
XSHELHSY : DHH|E / Yt XS |
nZH g A 1,194.6
n™HE 729.6 Ao 295.0 J1et 170.0
(CH= 0| AtHS) 7|2 U= 7|2
CHE 0| Xt 155.1 Z0pL|of 1250 FYstu us@ 55.0
22| 53.5 QECt 40.0 ERubul=) 9.0
FXHH| 6.0 A= 40.0 EXMFHE 25.0
SAHE At 290.0 MM 20.0 Aa8 g 30.0
A= BHEAE Ay 75.0 o235 100 Fstm 0 20.0
O|ABHEAE Aty 75.0 Atgtol SH 10.0 ACNER R 31.0
AKX HZALE Ay 75.0 | O|AtEw3|(2t0] ) 50.0
ngH g 2| 648.0
T2 7|EFX| & MuaH| o2 FH| FTYstn S84
24 140 116 249.1 142.9 648
ZHAH| 34 - - 46 8.0
i PN =R 96 - - - 96
TH| - 6.0 - - 6.0
7| Ef 52.1 - 1.0 274 80.5
7| EF(+H) - 110.0 - - 110.0
M7 1.0 - - - 1.0
EA|7}A - - 33 - 33
CleodEs - - - 20.5 20.5
HE7Y - - 2213 - 2213
‘A== 3.1 - - - 3.1
3| - - - 54.8 54.8
Al 2HEs - - - 5.6 5.6
AlH| 49 - - - 49
AAREH| 60.6 - 124 - 73.0
2%H|8 - - - 30.0 30.0
ANEFER - - 11.1 - 11.1
S| 5.3 - - - 5.3
=axsye [ | 7IEEII§ S(7|Eh - 2255t H5olg & W MRTA : 7|ENA) - FHeta X2
W HETY) - 29 W oXp A 72 2470 & 219X X2| H|E m T2 dd%n MX 721 &




